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Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory, e
2, Figures to the right indicate full marks.
3. Draw neat diagrams whenever necessary.

Q.1 Attempt any Two of the following 15
a) Explain the meaning and scope of public finance.
b) Discuss Musgrave’s Maximum Welfare Principle of Budget Determination with the help.of diagram.
¢) Explain the meaning and characteristics of functional finance. _

Q.2 Attempt any Two of the following ' - 15
a) State the merits and demerits of indirect taxes.
b) Discuss the sources of non-Tax revenue of tHeGovt.
$ ¢} Explain the Factors determining the incidence of taxation.

Q.3 Attempt any Two of following,
a) Discuss the reasons for

rplincrease in_';i‘ub'i__ieexpenditi\.fr'é of India since 1991.

b) Discuss the burden of int hgbt -~ =S ol : 15
c) Critically examine FRBM Act 2 b DG '

Q4 Attempt any Two of Following. 15
a) Discuss various components of Indian.mbn ket.

b) Discuss the reformyinindian capital market laslnce 1991,
c) Explafn;the‘s_tr_uctu're-.of--lndian capital Market.

Q.5 a) State with reason 'whether-the-f'ollowing statements are true @? (Any four) 08
i A’i;pbrding to fu ncticn'al'_ﬁn'ance, Government must be a passive spectator.
. < Méfg_ih';ij-s:otf_al sacrifice increases with-an increase in units 0 t%
iil. ~ Impact and _in;:id_en_cé.o.f_dil".ect_:fémfalls_'on.s_anﬁe-person.
| v Greater the é!asti'city‘ ofde'r'nand,.the'larger will be the incidence on s€ller.
/ v _\-'Ra'ii.wﬁv'audgét"i's-a’n‘exa‘hzbi‘e of departmental Budget.
Vi Capital Levy is'. recurring nét’[gr‘é._.- : :
il Méneymarket deals with long term monetary transactions,

P ‘gii'i._ © SEBlhas allowed the Companies to determine the par value of shares issued by them.,
- 2 v «:Biﬂhéﬁ_se__the .coi'rectiénswe'r-an.d rewrite the statement (Any seven) 07
‘P Marginal Social Benefit curye ~-eeeee......_
- .2) Diminishes -~ & b) increases
- ¢) Remains constant d) None of these
I e Budget should be followed during depression.
= ra)Deficit . . . b ) Surplus
¢} Balanced o d) none of these.
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A brought about changes in the scope of public finance.
a) World War | b) World War (1
c) US crisis 2008 d) Great Depression of 1930
iv.  Which of the following is not a direct tax?
a) personal income tax b) service tax
c) Wealth Tax d) Corporate Tax
V. Special Assessment is also known as
a) Tax revenue b) Betterment levy
c) VAT d) none of these
vi.  Impact of a tax refers to ------—o——-
a) final money burden b) immediate money burden
¢) Immediate real burden d) External burden.
Vii.  Interest payment are the part of
a) Development expenditure b) non developmental expenditure
¢) Capital expenditure d) noneof these,
viii.  Pick out the term which is not the part of planned expenditure?
a) Agriculture b)Industry -
c)social service =% d) Dé-fense__

rm fiscal federalism was introduced by -
- b) Seligman

a - d) David Richards.
X.  Certi icéeposit are issued by '
a) Sched mercial Bank b) Regional Rural Bank

c) Local Area®Ba d) All.of these -~ - :
Py 13 not-“t of unorganized sector of Indian money market.
a) treasury bills. b) Money lenders
c) Chit fund ) none of these
xii.  Secondary Market reform. hDot ifthyde-—--eae
a) Liquidity Adjustment Fajlity = -
b)" Screen B_ased;trad'ing':.‘-_

€} RollingSettlement . . Y 3
d). Depository System 2 RN
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